Nom Controlen° 3 Sujet A

5 1
A==—= D=3+=

2 4
A= D=
A= D=
A= D=

3 3 2 5
B=—-= E==-=

10 2 3 7
B= . E=
B=. E=
B= E= i

-3 5 3 -1 3
C=—--= F=—-4—+-

4 6 5 4 8
G F= o
G F= i
G F= i




Nom: Controlen° 3 Sujet B

7 1
A=——= D=4+-
10 2
A= D=
A= D=
A= D=
3 7 2 4
B=-—-- E=—---
2 4 7 3
B=. E=
B=. E=
B=.. E=.
-5 3 3 -1 3
C=—-- F=—4—+-
4 8 4 5
C= Fe=o
= F= o
Com F= o




Nom: Correction du contrdle n° 3 Sujet A

5x2 1 3x3 5
= -= D= + =
2x2 4 1x3 3
100 1 9 9 5 14
A=——-== p=242_2=
4 4 4 3 3 3
B 3 3x5 _2><7 5x3
10 2x5 3x7 7x3
3 15 -12 -6 E_14 15 -1
10 10 10 5 21 21 21
_—3><3 5x2 _3><8+—1><10+3><5
T 4x3  6x2 " 5x8 4x10 8x5
-9 10 -19 _24+—10+15_29
12 12 12 40 40 40 40



Nom: Correction du contrdle n° 3 Sujet B
7 1x5 _4x45
10 2x5 T 1x44
7 5 2 1 16 5 21
= —— = — = = D:—+—:—
10 10 10 5 4 4 4
_3><2 7 _2><3 4x7
T 2x2 4  7x3 3x7
B_G 7 -1 6 28 -22
T4 4 4 21 21 21
_—5><2 3x3 _3><5+—1><10+3><8
T 6x2 4x3 " 8x5 4x10 5x8
~-10 9 -19 _15+—10+24_29
12 12 12 40 40 40 40




